x
2
MVQIU =z o = o
leum o ? 3 m ,m o
= B n o > -
- B B S - {F S
=2 S<R N ~
LRI IS L B = |0 N
> bsi s 8 TE A%
g5z : [ % 5| @ = 1. LN
* > (@) N U
=2 ~ £ "
- i 'n | = ~ 18 4
> 8§ g S= 85 g Y
i w 2| >»n>wm |[W | O
(¥ |5 2 x| D2 a F|> 5
£ g | g |2 9 <
LL & S °l = o |§|a =
.. z | -. < w o ,Wlb o !
o a e = T a < | > | D D
E A = ¥ ¢ Q< 9| |8
_nvlu = Z g Z M.n_ ,m = | = = |.
: s 8 S& 5 238l
B. = O x = n >
m L [ o VN — A Y
£ o — = D —
=3 S o B =
g5 =N S
g8 s | 28 8 &
WW L 7 3 ma y v © =
Amnm 9 a o o mm Q M“u o o
== 0 Q. S 23,66 o a | o
Sc g 3 92 it L B I S T g
SES 52 CQzgREkz | o 2 ¥
Mm a m 2o w VM VCWKW = S
=05 in B8 O 3383 = X -
HEe Y &% X ERgEt = 8 2
= = m Z ™ W nmwiBoz= w W 3 o
= > Tl o 28] 38
S S 2%z Q: Q| 8 S
N - 5s: O 4N
= = = .W = EEE D
= = - 2 8% o) =l |, g
E g = g I =53 A 4 BE i
< o N=8 i = N I u a N
s E 8 FEN = E A N £,
Z HO— 10— m— = Z 738 2 i 2 il
& S FEEE :
E o .M_mw o a P O 0 a |¥x|o|lwn|= |0
L
M
N
o S
S L T 0705 1G'L 02905 Ov'L 0£°€0S 1L ¥0S 00y S 3
HBEIE HO—wpo Tuaguown)OTH 00Ty Juimazpoy \ N\ ¢6 %06 99'L 68'C0G /Sl G67T0G 1S40G oL 1o[S] d=
3| 2|~ |2 X X 70§ 99'L $8'20S 0S'L #6205 0G 705 9IS
L7 %0G S9'L 127205 09'L 180G 9€¥0S Ok QS
< —
o\ 001/00G:L W b
I o
2 ™~
a
<<
— 2
5
>
] S
< ©
© [ pbJ DU LU3l0dDu GS0S [9'L G8T0S 09'L GB6T0S TS YOS T 00°GS 5
= 1 <
2 ] |
© W /
] __ 870G 007 €1°20S 09'L €2°20S £1°G0S [ 01'8Y ]
|
OA 3AOU—-NN oo | | 0e'00G STy
o i X
: LB
A - 73 T H — L0760 161 9£°€0G 19') 9¥'€0G L2'G0G~08¥§ o
00¢NG €77 a3 w1 I 820G 08¢ 2
1 Il 1°G0S 681 ¢v'e0G 291 ¢S0G 1£'G0ST 0908 o
o | £1°G0S (8L 9¥'20S 19l 9G°C0S ££°G0S | 09'8Z ™
: | :
=] 2 ATIHE ¥2°G0S 9/l ¥S°20S 09'L ¥9°70S 09GOS [ 09¢€Z | S[]
o \ =
2|8 _ RIS
] |
1~ v /MF €1°G0G (671 1E°€0S ¢/l L0 8TS06 048l |27
p \ (= sSim
o - 777 L 1 08'%0S~ G0'Z 90°€0S +9'L ﬁmmm :_mom/\www L < m
] 00¢Nd 222 dgd uoy |\ |\ £05 :
o1 Y s €905 6077 £6'705 09'L £0°S0S 20'S0ST0/0L |=[]2
Sl N \& 250G Gl'c 2870 09'L ¢6'C0G 60 [ 006 |x| |&
ol 17 ¥ I\ 28408 26’ 29'205 09'b 270§ ¥S¥0S— [ 009  |T[ o
3| 12| 00SNT 10 00\ \ 02405 LUV 0S50S 09'L 09206 L2H0S | OLvs (2SS
e Bl S b OA 9A0U-NN PN \\ \ ££20S oLl |=|E]T
© Z NpDJ Z 1Ud0qpo 16°¢0G 861 01°¢0S 1Ll 0¢¢0s w@.momlmwnw <& M
<~ - 3
T 001/00G:+ I =
N
a
<C N
2
" & 8
3 P o) ) . . . . . U <
Sl 7T o ou Jusfoder 1 3 2TL0S 6¥°90S 6L°L 79°G0S 0G'L ZL'G0S 65906 ] 00°C6 ;s
<+ | \ < N
—~ S 00YNT (AA0ISTA) V OveIas ¢ ¥1°/0G 8¥'90G 0T 19'60G €'l 1£'G0S 85°90S | 00°68 ]
0GINT 0 Qvdges  \ 80°£0S 8¥°90S ¥¢'L ¢G'S0S 9¥'L 79'G0S 85906 | GC'L8 o
\ S <
\ o) o\
\ 3 _
\ ~
\ o
__ ¥9°90S G¥'90G 1G'L ¥6%0G 09l ¥0'G0G G906 [ LZ'9L ]
o S 95°90S ¥%'90S ¥G'L 060G 951 00°S0S S90S | 08'LL
& mF
aad = 732 _ 25°90S 7¥'90S /Gl #8705 8G'L 6705 25'90G~0£'99 —
00ZNQ L¢R dHduDy 06705 0¢°G9 3
=
(o2}
9¥°90G 6£790G £9'L 9L¥0G 09'L 9840G 67905 [ 08°LS ]
L \
2 _,
] ) . ¥T90G 66'G0S 9L €GH0S 19l 940G 60906 | 08'6¥
[de]
- \ s
Ead = 772 K "] y0006 oL 26906 291 Zv0S LGOS~ 06'Ch
9 00CNT 927 "dd U1 / // 6£°%0G 06'LY
0 \
] = AR 88'G0S 2L LLP0S L9L LT0S 67°G0GTTS9LE
\
\
\ <
\ 2
8917
= S
d (]
~ B C¥'G0S— 0L 7L'€0S L9l 78'C0S YL 0STT0vee
A \ ! 99°G0S— II'L 99°€0S 09'L 9/°€0S LL+0S~"G1'0C
v 120G G161
o \
2 \
2 ] < G1°G0S L1 8¥'20G LGl 8G°C0G G8YOS [ S6Cl
\ =
o - 712 0 | 8 50°G0S 8v'L 99°00G 85l 9¥'C0S ¥8 YOS 040
Rl = AN \\ ! L6¥0S 95l 82605 6L 8£°€0S £80S~" 07'L
00ZN@Y'ZR dLTUDY | / G¢'00G 129
! —
08703 691 €1°90G 09') €2°90G 78705 1 0023| |
o) 5
o | o
« M |0 —
s Y
= IO~ avd / // 550G L9l 68705 09'L S670S ¢S YOS | 096 m
< | 1
HVAO_I OV 1 012 Eha0d) 72 " _”/ // L7 %05 G9'L 1£'Z0S 09'L 18Z0S 9€¥0S | 08'L8 —
<9 \
= w1 i YP0S— 09 £G°T0S LG L9706 LLY0STGLT8
! 020G 651 ¥S5C0G 951 ¥9°20G ¢L¥0S G608
\
S \
o M~
~| \ o
— v (8505 6¥°€0S €71 92705 LGl 997705 650G | G969 _
0| \ GL'S0S G¥'€0S 09l 17205 091 ¥220S SS€0S\ | /G169 S
AL = T 2L€0S vP'E0S €L 21205 0G'L 22205 ¥SE0GNY/ 07 79 &
2o “ 2L'S0S 84°€06 9971 11206 16Tl 12°20G 8S'€0SN\Y,/007C9 =
= - | \ LLSOS £G°€0S ¢l L1205 951 12205 £9°C0G\ Y /0165 S
e M 4l o 18'C0S ¥G'€0G ¥¥'L 11205 1971 12206 +9'€0G\\//S2'8S ]
FrgD - 1 = (850G /G'€0G 9¥'L 01°C0S /9L 02°C0G L9'C0GNY,/00°LG 2
= - H 16°C0G 85°€0S 8L 01°¢0S 121 02205 89€0S~-07 95 al
e T mwmriom | = Sl fa kNG
s ! . _ RIS L0 _ .
—~ 0eNT 0 QveiEs —— 00405 9%'l 01205 08’1 02705 9506 007G
900G ¢v'l 60705 [8'L 61°70S ZGE0S | 08'6Y
3
r~
|
08'C0S vZ'L 80°Z0S 79l 81'70S Z€€0S | S9'8¢ —
5
=
mE £9°00G 600G 9L'L £6710G 6G°L £0°T0G 6100 [ GL'LE
«©
A - 16006 Z0°20S 611 €105 8L €6'10S ZL'€0S™~00'9C
3| 8y°'C0S 10°€0G 0C'L 18°10G LGl L6L0G LL'C0S— T 06%C |8
12 ¢re0S L6705 2CL GLTI0G 9G'L S8'L0S L0€0S [ LI |39
~— | [
R [T€0S ¢Sl £9°10S ¥SL €105 SLTosN| 0091 |2]T
o $2'0S GGl 19'10G €51 110G 9L'C0SNY-006H | S|
Rl GZ'S0S— /Gl 09106 GGl 0L°10G LL'SOS T S8Yl |m|=
] /// / 82°€0G Gyl £510S 19°L £9°10S cO'€0S [ 08Tl |a-[]
N —|©
S~ — <
> / A ¢8C yL'66v 06'L v8'B6Y 95705 [ 0V'8  |B|T
SIS 05006127 82867 ZL'Z 886 6700SN— ooy |d|o
o 4| / 0L'L GO'/6v 09'L Sl'/6F S/'S6¥ MR
]k ..@ TEH N — 0[1 96967 091 907267 99867 00/} |52
- 13 0113d GOAOQOA JOJFVAYLS YN JN3'OdvN 0LL 06967 09'L 00'L67 09'86V 3 050 2
=23 001/005:1 W S
S 2 <
o N -
& o A
<t O A
e
29
&= Im APD] 1USQUONN — A—gQH % 10 LG60§ 9¥'606 6¥'L L6°£0G 0S'1 L0806 95605 —100°LC
] T2 = 0vd 96605 G¥'60S 0G'L G6'£0S Gl G0'80S GS'60G | 086l
©
M
N
&
5 97’605 C€'60S 6G'L ££L05 £9'L £8°£0S TY'60S [ S6E—| |T
| O o S
& S 08
] > ¥9'60G L2'60S £9°L ¥9°/0G 09'L ¥L°L0S [$'60S | GE'L6 e
= \ 3 91606061 _£¢L0S g ¢0°/0S 7T 60S\ | /087C6 o
e > 00ZNd_ 22 DAOjsep "did UDy — = o €¢£0G /16 T o
o 0¢NQ__ €2 DAOYSD[dS ~dijd uoy - 01603 S6.1 CCL0S g/1y 7e/0G L1'60G~FGL 06 e
ceR - ohd g £0°60S PO g600% 9L €105 ¥160G L 68 -1
- 0080 oveoc st (hiot 66 95406 BYERTTgh4g g
\ ¥8'80S 08°£0S 1Z'L ¥1°£0S 09'L ¥Z'L0S 6€L0G | OL¥8 me
\ e
\
\
R v \ £2°80S 81°£0S 171 95°90S 19'L 99°90G ¢S'L0S [ 0S'SL
©|3 \ I\ L1'80G L0°L0G 1Z'L 9¥°90G 19'L 95906 98'90G | 08°CL
— \ // 00°80S 88'90G 1Z'L 82°90G Z9'L 8£'90G 9/°906 [ 00°LL 2
\ g 3
\ / W_ 640G 79905 171 ¥0°90S G9'L ¥1°90G 79905 [ 61°L9 N
= — S o : . =
. <& 00ZNT 122 DAOJSap ~dijd —uoy N\ £8'G0G 0529 o
m w 00CNQ__['¢'R DAO¥ED[dS diid oy _H_//L L¥'L0S Gl £9'60G 0L')L £L°G0S ¢9'906™~"0¢"19 Rt
T2 — 0v3d ! / ThL0S €Tl €9'G0G 89'L €/£°G0S 990G 0£°09 Q
[&e o
| g 810G v1'L 8¥'G0S 09'L 8G°G0S 990G | S6'GS e
\ 3%
sls _ 00°£0S 0L 09GOS 09'L 0GOS 09906 | S80S e
3)¥ |2 __ -
= S =1 > ¥6'90S 67906 GZ'L ¥2°G0S 09°) ¥£'G0G 65908 08'Gh L
B O DRIDIGy | 9¢°G0G 0¥ S
Tl N )
—= I 00°£0S 06906 1L 0£°G0S 09'L 0¥'S0S 85908105 0% 0
! ¥0°£0S 05905 671 6£G0S GG 67'G0G 85906\ /08 °LE =
- W \ CL'L0S 0G'90S 6L 6£°G0S £9'L 6¥'GOS 8S'90G [ 0C'LE i
M
| <
N d
121> - A ._%7 22°L0S 16905 GZ'L 95605 9G'L 99°60S 65°90G™~109°LE =
o NI 09°£0S 16906 Z¢'L ¥9'G0S 9G'L 4GOS 09°90G\],~06'8C 3
° SAOU—NN s T— = 8/°G0G L08'/C _
mEI OA- 9AOU=NN 1990 ] \\ 0¥'/0G 1S90 1Z'L 0/£'G0G 09°L 08'GOS 19'90S~ | 00°LC = T
o | / IS
—1~ ] \ 19°£0G 1771 £6'S0G 8SL £0°90G £9°90S [ 0L°€Z mw
\ ¥8°£0S 120 $1°905 09°L +2°90S ££°906 0961 | L[]
/ S
/ S
\ M.._ o|lwn
/ 2¢°80G ¥Z'L 12906 107 1905 GOL0STSSLL | ||«
\\\ WOV N D1ﬂ ,_I |
VO < = 580G L' $2'90S 817 $£°90G €5°60ST T S9L |G| |2
HEE / ! 0 = 95805 ¥1'C 92°90G 027 9£°90S 9/°60S [ 066  [L|®|L
5| 815 o & 0TNT TV O30 0T _ L@ < 1G'80S™/0°C 82'90G £1°Z 8£°90G 90015~ g7 |= .
ZHEINES = [V'80S 9/ 65906 28l G9'90G ¥COlSH— ¢ (S| =n
= OSCNT £0 201295 —7 _ = 7806 Yo'l 7:90¢ 09 $8°908 [£0I6 Qg H o
L Qv YN ON3rOdwN L <
001/00G:1 W &
3
N
]
_
[
_
[
_
“
P —
S ! Z B
B.w ] /W AKH
= m =2 T o
o = &) -} [an)]
S35 z & = — = T
€z = Mg > = = —
o o o — L o £
<C o S o o @) [} = m = S bl
- B z S_2-¢z T = 2 S 2 <o £ EXE
25 S 24=Z¢g < z 5 ¢ - = 5 Z & £3g
gus L EEEF _ =z & % L 7 = 5 S ==
>535= P — o 2 = g s s 3= = = EW
5.8 £ 28wl o > T 5 = §F 58 = 2 BZo
=582 = BE32¢ < = £ 3 £3 £ £33 2%
SEYS = 4H9Z2ES n” 2 e = e = 2 e & %85




